P Shri Shankaracharya Institute of Professional Management & Technology

; Department of Computer Science & Engineering
Class Test —I Session- July— Dec, 2023

B.Tech Sem- 5™ A+B Subject— Microprocessors & Interfaces - C022511(022)
Time Allowed: 2 hrs Max Marks: 40

Note: - Qusetion 1 is compulsory and attempt any two from Q2,03 and Q4 from each Unit.
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‘ 3 Levels of Bloom’s
Q. NO. Questions Marks D — COs
Unit 1
Q1. | Whatis interrupt? [4] Understanding =~ COl
Q2.  Explain Harvard and Princeton architecture with diagram. [8] Analyzing COl
Q3.  Give comparison between 8085 and 8088 microprocessor (8] Analyzing = COl
'Q4_ Explain pin diagram of 8085 microprocessor [8] Applying CO1
‘ ' Unit 2
Ql. Define Memory banking concept of 8086 microprocessor [4] Understanding =~ CO2
Q2. Explain BIU and EU of 8086 microprocessor [8] Applying CcO2
Q3.  What are different addressing modes used in 8086 microprocessor (8] Applying CcO2
Q4.  Explain Pin diagram of 8086 Microprocessor [8] Applying C02 -
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) ? o Levels of Bloom’s |
Q NO Questions Marks taxonomy - COs
Unit 1
Q1. . What s interrupt? [4] Understanding =~ COl
Q2.  Explain Harvard and Princeton architecture with diagram. - (8] Analyzing COl1
Q3. Give comparison between 8085 and 8088 microprocessor [8] Analyzing COl1
Q4. | Explain pin diagram of 8085 microproceésof [8] Applying COl
| Unit 2
Ql. - Define Memory banking concept of 8086 microprocessor [4] Understanding Cco2
Q. i Explain BIU and EU of 8086 microprocessor [8] Applying CO2
Q3.  What are different addressing modes used in 8086 microprocessor (8] Applying . CO2
Q4.  Explain Pin diagram of 8086 Microprocessor [8] Appqlvy“ing CcO2




| P Shri Shénkaracharya Institute of Professional Management & Technology
' Department of Computer Science Engineering
: sasfﬁ’fg ﬁ;% Class Test— I Session- July-Dec, 2023 Month- October
e Sem- CSE (C) 5™ Subject- Microprocessor & Interfacing C022511(22)
Time Allowed: 2 hrs Max Marks: 40
Note: - Q.1lis compulsory and attend any 4 from 2,3,4,5,6.
Q Levels of
. Questions Marks Bloom’s COs
NO.
, o —_— R taxonomy |
(1) Why 8085 microprocessor can not have more than 256 instruction?
1. | (2) Difference between 8085 & 8086 microprocessor. [8] Apply &. COl1
L Understanding
(3) Explain flag register of 8085 microprocessor with dig.
Explain Bus Interfacing Unit (BIU) & Execution Unit (EU) of 8086 ,
2. . [8] Understanding 6(0) i
microprocessor / 1
\
Explain following instruction ‘
(1) CWD
(2) XLAT
() AAA |
H
W 3 (4) LEA (8] Understanding | CO2 i
(5) CMP |
(6) POP '
(7) SHL
(8) PUSHF b
4. | Explain Harvard & Princeton architecture with proper dig. [8] Understanding Co1
5. | Explain architecture o_f 8088 microprocessor. (8] Understanding CO1
— S VA . v v R Bl . |
\
MOV BX, 3F24h N
For above prog.use instruction MUL, NEG AX, XOR BX and SAR BX,
03 to perform the operation stepwise
(2) MOV AL,73h
! 8 CO2
ADD AL, BL
DAA ‘
Tell the steps how the operation is performed in this prog. & what are il
affected flags. Ll




L s Shri Shankaracharya Institute of Professional Management & Technology
- Department of Computer Science & Engineering
Class Test—1 Session- July-December, 2023 Month- November
Sem- CSE 5™ (Sec- A,B&C) Subject- Computer Networks Code- C0225 12(022)
Time Allowed: 2 hrs  Max Marks: 40
Note: - All questions are compulsory and carries equal marks..
Levels of
Q.N. Questions Marks Bloom’s Cos
taxonomy

Describe all functions of TCP/IP Protocol .

@l suite with diagram 8] Ko asoing ool
Evaluate all three categories of multiplexing
with help of diagram

Q2 | a) Frequency Division Multiplexing b) [8] | Evaluating col1

W Wavelength Division Multiplexing c) Time

Division Multiplexing

Q3 Distinguish following Netvtlorking devices [8] Ammlyzing a1
a) Modem b) Router c¢) Switch d) Hub
Diffrentiate following protocols with
neat diagram .

a) Controll.ed Afccess Protocols Understanding
Q4 b) Channelization Protocols (8] . CcOo2
/Creating
OR

Discuss and solve any error detection and
correction method with suitable example.
Illustrate various features of following:

Q5 a) ARP b) RARP ¢) DHCP (8] Understanding co2

d) Wireless Lan
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3 Shri Shankaracharya Institute of Professional Management & Technology
( Department of Computer Science & Engineering
Class Test —I Session- July— Dec, 2023 Month-Oct-2023
Sem- CSE 5™ A,B&C Subject- Computer Graphics and Multimedia Code-C022531(022)
Time Allowed: 2 hrs Max Marks: 40

Note: - 1. All Questions are Compulsory

Levels of

Q.N. Questions Marks Bloom’s COs
taxonomy

Ql Discuss the working of Raster scan system in detail ? (8] Understanding | CO1

Apply Bresenham’s Line drawing algorithm and draw a line

(8] .
Q2 | petween points (9,18) and (14,22) Applying | COl

) ; 4 Ccol1
Compare the Boundary Fill and flood fill Algorithm using | [8] ;
- s suitable Example Huilyls
Apply midpoint circle algorithm find out the coordinates of a
Q4 [8] Applying CO1

circle whose radius r=10 ?

Discuss Basic types of 2-D transformation and generate its | [8]
matrices

Q5 Understanding | CO2




